A #E 2

EAE BRFEAFHEIABRBERRS

BRIXTFEE
(BRHBICKDIR—ZIVITEE)
1 IRADE
] = FEE (M) BEEAR
BRI A LR 500, 000
BHC&ES 18, 896
EEEEICKDINASE 0
Z Dt 0
= H 518,896 | ®
2 XHOE
" = FEEZE (M) BEEAR
=25E 0
13,380 | t1Ft @84Mx20E = 1,680M
BEERE ZAT—hLA2—@180 A X40 = 7,200 M
EFRME 01,500 M *x3E = 4,500 1
42,266 | WER (EERE) xEH
dtEE-#EM @324 Hx2= 648 M
AE-EM @410Mx2= 820
WREXBE [L$RER# &
dtEE-EH @5479 Fx2=10,958 M
AE-FH @5720 Fx2= 11,440 M
TEA%E/ EHE@9, 200 FH X2=18, 400 ©
205, 740 | RERAEEHE
- BREY (B, P
CIXSFET(ENLTTA0)3 K%
#H @2 180x2= 4,360 [
«\F 01268 x5 K= 6,340 M
- BintE @3,000 H X2= 6,000 M
FEBE FTYa,9R4850)7
@500 X4= 2,000 M
HERE /N5t 18, 700
- AT RFEBEHEAE 100
@1,106 x5%= /h§t5,530M
[R3REXE
-JYva—15 /NET 44,000 M
A Bl 27/
@5,500 @ x2 /pEt=11,000 M
- ENRIFE 4K A4, @2.4 1/# 2,000 %
NEt=4, 800 [




- SD 71—k (Toshiba128GB)
@4,500  x2=/]pE+=9,000 M

-hEBE Y B = 40,000 M
- B2k 220km = 5,500 H

- DREBIESR  ©4,510x3 = 13,530 M
"EMUYgk  04,280x3 = 12,840 H
NEt=71,870 1

RERAEEE C~6 AOFEHENK)

- AV AR (1E1E Bl 25 F/km)
R&E-LE 300M x6[E= 1,800
FE-E 550Mx6= 3,300M
FRE-WIl 15Mx4 = 300 A
FRE-)IO 1,400 1 x2= 2,800 M
MZE-REA/ 1,210 A x4= 4,840
mZA-EH/ 800Fx6= 4,800M
mzE-E£RE T50Mx6= 4,500
AE-=F 800 x10= 8,000 H
EE-=F 1250 x6= 7,500H
#@)I-LE 300" x10= 3,000 M

/NEt=40,840 1

EmnE 0
38,290 | - [E#R/ <Y F A4 TEENRI 200 £
e /INEH=38, 290 FJ
B 0
208,000 | ReFAEEE GAEEAGEE)
- AYEIRAEE B 1000 F/hx3h
x12 B x5 A= 180,000 F
A4E - BRE BEG 1,000 F/hx 4h
x2 Bx2 A= 16,000
- BoR¥ER BFES 1,000 A/hx 3h
x2 Bx2 A= 12,000 F
11,220 | - [RIREHAEE 11,220 [
Z Dt (L% H—2 BiE EHER~EM
EREREE)
& i (FEXEB) 518,896 | ®

PRADEDEE (@) =XHDEDEFT (©)




